N of reco track vs dxy

N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

2 F 2 F 2 2
s F s F S ]
g g S 8
[ Q Q
=] X =1
10? 502 k] 8o
[=%
- - =]
- =l
10 1
1=
oV 3 2 DQrN-I_- 1[‘)00:[_‘}-;LUUUUUUUl_(;IO-a ;mﬁ1F|tidd{lljneo;-lR;gCO L
3 V0001_R000000001 _Global __mkFit100Time__RECO
24 T T
1+ !
0'—“25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 10 15 20 25 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L 2 -
Q [=] [5)
g S s
[ Q Q
=1 X =1
E 8 go
S
10 S
1
o o+ N
3 3 :
o 04
R : ;
0% °¥Pp =20 -0 0 3020 -0 0 10 20 30

track dz (cm)

=30 -20 -10 O 10 20 30

track dz (cm)

10 20 30
track dz (cm)

track dz (cm)



	Contents
	Page 1


